


aid the king. “I am crying for you, my Lord!” replied the jester. “Why?” asked the king. “My
ord, by eating only half of the magic thing, I am going to die. What will happen to you when
you eat the whole of the magic thing?” said the jester. The king saw sense in what the jester
siid. He realized his mistake of believing in such magic things. He suitably honoured the
jester.

1. “The king’s bodyguards did so.” Which of the following correctly explains ‘did so’?
(a) They snatched away the half-eaten ball.
(b) They arrested the physician.
(c) They snatched away the plate of balls.
(d) They took hold of the physician.
(e) None of these.

2. According to the king’s information, which of the following was the invention of
the physician?
(a) An edible substance that was very sweet.
(b) A magic substance that would give strength.
(c) A magic substance that would reduce the life span.
(d) A substance that would postpone death.
(e) A substance that would make life miserable.

3. Which of the following statements is true in the context of the passage?
(a) The king was not moved by the jester’s weeping.
(b) The sweetmeat balls were having wonderful power.
(c) The punishment sentenced on the jester was implemented.
(d) The physician was one of the king’s own subjects.
(e) The king had realized his mistake even before the jester’s act.

4. When the physician visited the court, the king :
(a) got annoyed.
(b) was wearing a garland.
(c) became very happy.
(d) ordered him to garland his soldiers.
() uncovered the plate of sweetmeat balls.

S. According to the jester, what was the effect of eating of half a ball, on him?
(@) Tears in eyes.
(b) Death sentence.
(¢) Longer life.
(d) Being honoured by the king.
(e) None of these.

- Which of the following surprised the courtiers?
(a): The physician’s wonderful invention.
(b) The king’s unlimited joy at the sight of the plate.
(c): The jester’s wisdom of exposing the physician.
(@) The king’s reaction towards the jester.
(€)'The jester’s act of picking up and eating a sweetment ball.
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7. What made the jester weep with sorrow?
(a) The death sentence passed on him by the king.
(b) His concern and anxiety for the life safety of the king.
(c) The effect of the physician’s invention on the lives of the
(d) The destruction of the half sweetmant ball. People.

(e) None of these.
The king offered death sentence on the jester because the jester had

(a) tried to teach the king a lesson.

(b) caught hold of the physician.

(¢) insulted the physician by his impolite act.

(d) snatched away the thing which was meant for the king.
(e) touched the magic sweetmeat ball to remove its power.

“He realized his mistake of believing in such magic things.” Whi

explains ‘such magic things’? i = gs.” Which of the fOHoWinE
(a) Things which have miraculous power.

(b) Things which have been prepared by famous physicians.

(c¢) Things said to possess magic power but do not have such power, -

(d) Things offered to the king to help him live longer.

(e) None of these.

10. The king honoured the jester for his act of :
(a) opening the king’s eyes. (b) committing a mistake.
(c) realizing that he was wrong. (d) believing in false things.

(e) eating up half a sweetmeat ball.

Passage 2

White cement is the basic raw material for producing cement tiles and cement paint
which are used extensively i building construction. The main consumers of white cement
are, therefore, cement tile and cement paint manufacturing units. These consumers, mostly
in the small scale sector, are today facing a major crisis because of a significant increase in the
price of white cement during a short period. The present annual licensed production capacity
of white and grey cement in the country is approximately 3.5 lakh tonnes. The average demand
is 2-2.5 tonnes. This means that there is idle capacity to the tune of one lakh tonnes orf more.

production capacity

The price rise is, therefore, not a phenomenon arising out of inadequate

but evidently because of artificial scarcity created by the manufacturers in their self-interest
trol. As it is, ther®

The main reason for the continuing spurt in cement price is its decon :
is stiff competition in the cement paint and tile manufacturing business. Any fun?ler i
revision at this stage is bound to have a severe adverse impact on the market conditions:
Government should take adequate steps to ensure that suitable controls are brought 1i-
it should allow import of cement. e

1. Why is the price of cement going up? o é
(a) Because the Government is controlling the quota. 7Y
(b) Because of export of white cement. {53!

bl

(c) Because of the large usage of white cement.
(d) Because of extensive usage of white cement for construction. ;.

(e) None of these.




- NS memmammmem e wme— - - e on Bt S5 S8 Sm w ke geb e R ST
- ———
-

I

l
g which of the following statement is false according to the passage? *‘1 ‘:
(a) Price rise in white cement would increase the price of cement paint. |
(b) White cement is a controlled product.
(c) Increase in price of white cement is not because of production problem.
(d) Price rise 1n white cement would upset cement tile market.
(¢) Most cement paint manufacturers are from small scale sector.

3, What is the crisis being faced by the cement tile manufacturers as described in the
passage? | 1
(a) White cement is priced very low.

(b) White cement is not of good quality .
(c) White cement usage is high. i
(d) White cement prices are very high.
(e) White cement is being exported.

ey T —

4. Which of the following words has the same meaning as the word ‘idle’ as used in
the passage?

(a) Lazy (b) Clumsy !
(c) Large (d) Excess i
(e) Known i

5. Which of the following is correct according to the passage? ; i
(a) White cement is not used in the manufacture of paint.
(b) White cement forms a minor part of tile manufacturing.
(c) White cement is very important for tile manufacturing.
(d) White cement is used only for making paints.

(e) None of these. {

6. Which of the following words has the same meaning as the word ‘artificial’ as used ; i
in the passage? ‘ l I
(a) Unnatural (b) Prolonged ]
(c) Practical (d) Absolute o r,:-f i
(e) Deliberate o

7. What is the author's suggestion to bring down prices? ! I
(2) Government should control the white cement market. g
(b) Production capacity should be increased. . :

() Usage of white cement in other areas should be relanei

d Cdﬁ]peﬁﬁon among manufacturers of cement paints and tiles should be reduced.

(€) None of these.

8 Which of the following words has the opposite i_ﬁganirig as the word ‘basic’ as used
in the passage? el

(2) Vita] (b) Unimportant

© Acidic () Last,

© Sman
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9. Which of the following is correct according to the passage?

(@) Cement production capacity is more than usage.
(b) Cement production capacity is less than usage.
(c) Cement production capacity is equal to usage.
(d) Cement production capacity is twice than usage,
(e) None of these.

10. What can be presumed from the passage regarding foreign trade in cement)

Because goldfish can be kept easily in small
pets, but like many other pets, they must have proper care and the ri

A twoinch fish requires a minimum of two gallons of wat

(@) The country is exporting cement at present.
(b) The country is importing cement at present.
(¢) The country is exporting and importing cement.

(d) The country is neither exporting nor importing cement,
(e) None of these.

Passage 3

ponds and aquariums, They make good
ght kind of place tq live, !
€r containing sufficient oxygep !

to support life. Some OXygen will make its way into the water of an aquarium from the ajr that !

touches the surface. Plants in an aquarium also help to furnish
aquarium clean. Thus, with Plenty of plants and spail the w,

1. Which of the following statement is true?

OXygen. Snails help to keep an !
\ ater in an aquarium does not !
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(@) Goldfish should be given food only once a day.

(b) Snails eat up the goldfish in an aquarium,

(c) Plants provide food to the snails.

(d) Goldfish comes above the surface of water to get oxygen from air,
(e) A large take is an idea] place for goldfish.

. Which of the following statements is not true?

(a) Snails make the aquarium clean by eating up goldfish.
(b) Two gallons of water with sufficient OXygen is enough for two inch fish.
() Goldfish can be made good pets. -
(d) Plants in an aquarium provide OXygen to goldfish, = V&
(e) Goldfish must never be given too much food.

itk ped il

3. Which of the following helps supply goldfish with oxygen? 1"

(a) Snails (b) Plants ; ,}.\_.__ )'{r;a
(¢) Dried insects (d) Aquarium -_i.'--n'm‘i'i
(e) Surface of water ' i Bt
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4. Water in an aquarium Needs t,

0 be chanead ;
(a) there are plenty of snails ang i gedif .

; lants jp 4
b) rhtlere 1S 1o sufficient en in jt.
(c) it is very clean anq

Cﬁntains suffic;
(d) it does not contajp goldfish foodlzlsgtdofcygﬁn.
(e) None of these, Ted insects,

What is important tq p,

emember whep faeq:
(@) They should pe fed more than 1 teeding goldfish?

onc
(b) They should pe fed at ﬁve-minute einiec::{:ls
(©) They should be fed wigy oo and snajls
(d) They should be fed only once a day, '
(e) They should be :

glven more food thap they cap consume,

iving. It often releases the
oriented societies, Byt more
dom to deviate, And living in
ans that regulatory orders of
are strangers €Xecuting these
S in small town or village are
table as such action may seem
d violations of the law comp

ared to the big citjes. Although
difficulties for the police in small town, forma] and objective
Tcement is not always acceptable to villagers,

mmon in traditiop.-
rovides greater free
d Urban society me
t bureaucrats, The police
of subjects. Minor offence
fficial police action, As dispu

are often directed by distan
tions on an anonymous set

ults in fewer recorde
causing some decision-

undance are
displayed and are more portable. The crime-rate increases despite fromal mora]

1. According to the passage, all the following contribute to hi
ban areas except :

(@) vivid display of consumer goods.

(b) higher standard of living.

(©) Urban impersonalized living.

(@) increasing population.

(€) inadequate police force.

gher crime-rates in yr-

i ing?
* Which of the following is a characteristic of an urban setting
(@) Unreported minor crimes.
) Deviation from freedom.

i trol. .
(C)) 11\::: fo;f Efu;(f:ttizliﬁc:sn of crime due to better law enforcement
Imal op

(&) Fewer recorded violations of the law.
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3. The author’s view of ‘Traditional Societies’ is best expressed by which of the follgy.
mg?Th rovide less freedom for the individual in many circumstances
gi Th:)}; llzave lower crime-rates because of the moral teachings in schools,
(¢) They provide inadequate freedom for personal movements and trave]
(d) They do not have adequate moden? technology.
(e) They are ruled and controlled by distant bureaucrats.

4. People live under more social control in :
(a) formally controlled Urban societies.
(b) the presence of the police authorities.
(c) an anonymous form of living.

(d) non-traditional societies.
(e) None of these.

5. It can be inferred from the passage that urban crime can be controlled by :
(a) greater emphasis on moral education.
(b) enforcement of law by distant bureaucrats.
(¢) vivid display of expensive consumer goods.

(d) making the expensive consumer goods less portable.
(e) None of these,

6. Which of the following statements is true in the context of the passage?
(@) The display of consumer goods is the main cause of crime.
(b) Lack of personal contacts increases crimes in Urban areas.
(c) Small communities have more minor crimes than in Urban centres.
(d) Urban crime areas cannot be prevented.

(e) Police in Urban areas settle minor disputes without official action.

7. Which of the following statements is not true in the context of the passage?
(a) Moral education imparted in schools is ineffective in checking crime-rate.
(b) There is less freedom in the current society than in a traditional society.
(c) Urban areas are thickly populated and commercialized.
(d) Anonymous living in urban areas may lead to a freedom to deviate from rules.
(e) Urban areas provide more Opportunities for crime than rural areas do.

8. According to the passage, the crime in small towns -
(@) is less frequently reported or dealt with officially.
(b) is brought well under control by distant bureaucrats.
(¢) leads to an impersonalized style of living,
(d) is often dealt with objective Jaw enforcement.
(e) always causes difficulties for the police authorities,

T e 1 D it
: 8 to political interference in administration shows that
15 ot a one-way process. There is oft

. g serians
- . €n a nexus between Power-hungry and’corrupt li"i’l“:“:lanD
and civil S€rvants with convenijent Principles. Many civil servants are only too anxious !
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the politicians, and then cash
i8¢ irude of self-righteousness a4,
e Egnng their own flaws by blarning
Ve

€ obligatiop, v,
Pted by

hen they Need some specig] favour. 5o
others,

the civj] Service is sometimes only a way of

been even more fantastic, ¢ is
pave

o € self-styled herg to bla
grerfering politicians but also fellow eiv:

:ﬁs attitude of smug self—satisfaction is, unfortunately, d
elf-preservation rather than Service is

and not result-oriented.
ork, but no action is ever
try is to adopt a result-

- The attitude of self-ri

ghteousness adopted by the civil service, according to the
Writer :

(a) is not welcomed and supported by politicians.

() is dishonest and conceals the facts, B
(©) is very difficult to maintain because t?f Opposition.
(@) does not really help the public get fair treatment.
+ Civi] Servants

(

; : irs after retiring :
ho write their memoi : -
2) claim th Wth would have achieved outstanding success if interference had
alm that they
Not come in the way. b .
Prove that constant political interference made it impossible for them to do
a
anythlmg PrOPt‘ilr:Y dit for their achievements goes to dishonest politicians.
€Omplain that the cre '

Prave th le of inferior quality in the civil service bring about interfer.
TQve that peop B
enge..

()
d)
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The existing system of administration seems to encourage civi servants

(a) to become self-styled heroes and boss O\f‘ef’ otht'ers.

(b) to present a glorious picture of the admln}stratlon. .

(c) to become self-centred and concerned mainly about their OWn gain,
(d) to become self-righteous and fight back against corrupt politiciang,

. The problem with the present set-up needing urgent action is :

(a) alack of accountability on the part of civil servants.

(b) a lack of control over the power of politicians.

(¢) a neglect of the ideals of self-righteousness.

(d) complicated rules and procedures that greatly reduce efficiency;

- The main principle of the remedy proposed by the writer is, that :

(a) the politicians should be made accountable for all their decisions.
(b) the high level of protection enjoyed by civil servants should be reduceq,
(¢) the common man’s right to efficient and fair administration mus

t be Protected,
(d) rules should be simplified so that there is Jess scope for misuse,

According to existing Procedures, if a civil servant s found to be unsuitable or
dishonest, :

(@) he can appeal to an authority like the Supreme Court.

(b) politicians with whom he has special links will interfere to help him,

(© transferring him to another post is the usual action taken.

(d) a conflict between Central Government and State Government interests can
arise.

- The writer refers to ‘a paid holiday’ to support his argument that -

(a) civil servants get a lot of extra benefits.

(b) disciplinary action is generally not quick or effective.

(c) lazy and inefficient bureaucrats seem to be on holiday even when on duty.
(d) special postings that ‘favoured’ civil servants are unnecessary and wasteful.

The expression ‘linking job performance with job retention’ refers to a policy in

which :

(a) selection to civil service jobs is on the basis of rigorous performance tests.

(b) selection to civil service Jobs is on the basis of rigorous performance and not a
minister’s opinions is the basis of transfer or promotion.

companies.

(d) continuation in service will depend on satisfactory performance.

The expression ‘deliver the goods’ means :

(@) show good Job performance. | "

(b) accept bribes or other illegal favours. ‘ |

(c) make payments of black money as bribes, 5

(@ Successfully defend oneself against a charge, in a disciplinary inquiry.
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P aSSage 6
A recent report in News Wee says ‘
: that in Amers
form not only the minority erican colje -
. y C M x ; 2 we .
of Itis unlikely that these talenteq youngsters ‘e'_ilad"e"ement s Something e cop. L. any (::]f
brain drain problem. However rec Vil come prou

back to Ingj
: i ; CNt stateme; 10 India, and tha js the famili
he perception of this issue is Changing_ ‘Brain ba:::;‘ by c;hve nation’s policy-makers indicate th:tr
idea, they suggest since the expertise oo Mot brain drain' i the more appropriate

of Indians g, : 4
ot 1ost. road is only deposited in other places and

pther banks, is one that primarily serves
'ans now excelling in !

and what their counterparts do for orkas E;gzlﬁilag;,i:fhalt 'noré-resident Indians do for India

Butitis also necessary to ask, or be reminded why ?:d}lfais ;’ -product
The Asians whose accomplishments News Week ;‘ecords W
different tale if they had studied in India. In America they
faci‘lities not available and not likely to be available here, The need to prove themselves in
their new country and the competition of an international standard they faced there must
have cured mental and physical laziness. Byt other things helping them in America can be
obtained here if we achieve a change in social attitudes, specially towards youth.

We need to learn to value individuals and their unique qualities more than conformity
and respectability. We need to learn the language of encouragement to add to our skill in
flattery. We might also learn to be less liberal with blame and less tightfisted with appreciation,
especially.

tudy fruitfully when abroad.
ould have probably had a very
found elbow room, books and

1. Among the many groups of students in American colleges, Asian students :
(a) are often written about in magazines like News Week.
(b) are most successful academically. .
(c) have proved that they are as good as this whites.
(d) have only a minority status like the blacks.

2. The student of Asian origin.in America include :
(@) a fair number from Ind}a.
(b) a small group from India.

(c) persons from India who are vgr{v grr]c:lllllcé Sy
(d) Indians who are the most har

; dying in America :
3. In general, the talented young Indians st @

o king.
. being hard working. —
(a) have a reputation .for to contributé 0 India Sfdzzentpchanges in policy.
) Bawe e oppol’l'u_ﬂlfé’rain prob!em becaus;: ?:l'ar
C the brain ; rs in India.
Ed)) c\::llill Sr:g:flz'emrﬂ to pursue their Caree y oA
e ‘brain pank’. This idea :

n drain problerm,

4, g of th _ :
There is talk now et

i - brai N 3
(2) is a solution to the by the bra . ians living abroa
(b) is a new problem caused partly of qualified Indi

; rch
. role , rtances to stimulate resea
i of looking at the r exchange remittan
(c) is a new way O utilize foreis
(d) is based on a plan
and development.
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5. The brain bank has limitations like all banks in the sense that :
(a) a bank’s services go mainly to those near it.
(b) small neighbourhood banks are not visible in this age of multinationals,
(c) only what is deposited can be withdrawn and utilized.
(d) no one can be forced to put his assets in a bank.

6. The author feels that what non-resident Indians do for India :
(a) will have many useful side effects.
(b) will not be their main interest and concern.
(c) can benefit other Asian countries, as a by-product.
(d) can American colleges be of service to the world community.

7. The performance of Indians when they go to study in the West :
(a) shows the fruits of hardwork done by school teachers in India.
(b) should remind us that knowledge and wisdom are not limited by the bounda-
ries of race and nation.
(©) is better than people in the West expect of non-whites.
(d) is better than what it would have been if they had studied in India. i

8. The high level of competition faced by Asian students in America :
(a) helps them overcome their lazy habits.
(b) makes them lazy since the facilities there are good.
(¢) makes them worried about failing.
(d) helps them prove that they are as good as whites.

9. The author feels that some of the conditions other than the level of facilities that L
make the West attractive : ]
(a) are available in India but young people do not appreciate them. |
(b) can never be found here because we believe in conformity. !
(©) can be created if our attitudes and values change. !
(d) can also give respectability to our traditions and customs.

10. One of the ways of making the situation in India better would be : V
(a) to eliminate flattery from public life.
(b) to distinguish between conformity and respectability.
(c) to give appreciation and not be tightfisted.
(d) to encourage people and not merely flatter them.

Passage 7 ] |

True, it is the function of the army to maintain law and order in abnormal times. But 1
normal times there is another force that compels citizens to obey the laws and to act with d‘:,s
regard to the rights of others. The force also protects the lives and the pr'c:pertles of lea-nt
abiding men. Laws are made to secure the personal safety of its subjects and to prev'nst
murder and crimes of violence. They are made to secure the property of the citizens ag?cl;ms \
theft and damage to protect the rights of communities and castes to carty out the”ﬂfzsg sall: ©
and ceremonies, so long as they do not conflict with the rights of others.NoW ¥ 2

citizen, of his own free will obey these laws and he takes care that everything'h

.
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jue regard t© the rights and well-being of others. But the bad citizen is only restrained

reaking these laws by fear of the consequence of his actions. And the necessary steps to
- mpel the bad citizen to act as a good citizen are taken by this force. The supreme control of
yand order in a State is in the hands of a Minister who is responsible to the State Assembly
s through the Inspector General of Poljce.

ar

'

1. The expression ‘customs and ceremonies’ means :
(a) fairs and festivals.

(b) habits and traditions,
(c) usual practices and religious rites,
(d) superstitions and formalities,

2. A suitable title for the passage would be -
(a) the function of the army,
(b) laws and the people’s rights,
(c) the fear of the law and citizen’s security. n
(d) the functions of the police.

3. Which of the following is not implied in the passage?
(a) Law protects those who respect it.

(b) Law ensures people’s religious and social rights absolutely and uncondition-
ally.

(c) A criminal is deterred from committing crimes only for fear of the law.

(d) The forces of law help to transform irresponsible citizens into responsible ones.

4. According to the writer, which one of the following is not the responsibility of the
police?
(a) To protect the privileges of all citizens.
(b) To check violent activities of citizens.
(c) To ensure peace among citizens by safeguarding individual rights.
(d) To maintain peace during extraordinary circumstances.

5. Which of the following reflects the main thrust of the passage?
(a) It deals with the importance of the army in maintaining law and order.
(b) It highlights role of the police as superior to that of the army.
(c) It discusses the roles of the army and the police in different circumstances.
(d) It points to the responsibility of the Minister and the Inspector General of Po-

lice,

6. “They are made to secure the property of citizens against theft and damage”, means
that the law : 5
(a) helps in recovering the stolen property of the citizens.
(b) assist the citizens whose property has been stolen or destroyed.
(©) initiate process against offenders of law. -
(d) safeguard people’s possessions against being stolen or lost.

7. Out of the following which one has the opposite meaning to the word ‘restrained’

in the ; ?
(a) PrE;s:;_.g; : (b) Accelerated
(©) Intruded (d) Inhibited

________________________________ -
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8. Which one of the following statement is implied in the: Passage?
(a) Peaceful citizens seldom violate the law, but bad citizens have tg be Testrajp, q
by the police.
(b) Criminals, who flout the law, are seldom brou.g}}t to b.ook.
(c) The police hardly succeed in converting bad citizens into good citizeng,

(d) The police check the citizens, whether they are good or bad

, from violaﬁng the
law.

9. Which of the following statements expresses most accuratel

y the idea Containeq in
the first sentence?

(a) Itis the job of the army to ensure internal peace at all times,
(b) It is the police that should always enforce law and ord

(c) Army and the police ensure people’s security throug
(d) It is in exception
country.

er in the country,

h combined Operatiops,
al circumstances that the army has to ensure Peace in he

10. The last sentence of the passage implies that :

(a) The Inspector General of Police is the sole aut

hority in matters of law ang
order.

(b) In every State maintenance of public
responsible Minister,

() A Minister and a responsible State, Assemb]
ters pertaining to law and order.

(d) The Inspector General of Police is res
taining law and order.

peace is under the overall contro] of the
y exercise direct authority in mat-

ponsible to the State Assembly for maip-

Passage 8

Systems for recreation, leisure, culture
Open space, easy access to unspoilt
and swimming baths and recreatio
demonstrations, halls for citizens’ m

Nature, beauty in parks and in fine buildings, gymnasia
n. grounds in plenty, central spaces for celebrations and
eetings, concert halls and theatres and cinemas that belong

1. Cities can be made to

prov"_idé full facilities for life, onlyif: .. ot
(a) these can be me

chanically developed. s el
(b) proper ransport system is introduced. o THe mr;:;.
(©) cinemas, theatres_.a;;q/cqncen halls are established ther
(d) these are thoughtfully and vigorously designed to serve

SO @
people’s needs.
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9. A suitable title for the passage would pe -

(a) Towns versus Animals,

(b) The Need for Planned Citjes,

(¢) Transport and Communication System in a

City.
(d) The Need for Entertainment Centres in a Cj

ty.

3. “A city need not be a frustrater of Jjfe” means that -
(a) one does not expect fulfilment of aJ] life’s requirements from a city.
(b) city life provides all the essential needs of life.
(c) a city does not necessarily lift man’s standard of living.
(d) a city should not defeat the fulfilment of life’s aspirations and aims.

4. Which one of the following has the opposite meaning to the word
passage?

(a) Promoter (b) Applauder
(c) Approver (d) Executer

‘frustrater’ in the

5. “The building must not be built anyhow or dumped down anywhere”....the state-
ment implies that building :

(@) should be built with suitable material.

(b) should be constructed, according to some suitable desi gn, not indiscriminately.
(c) should be scattered to provide for more of open space.

(d) should be built to enable citizens to enjoy nature.

6. The word ‘drastic’ in the passage means :
(a) orderly. (b) powerful.
() consistent. (d) determined.

7. The author talks about ‘Unspoilt Nature’. In what way can Nature remain unspoilt?
(a) If Nature is not allowed to interfere with people’s day-to-day life.
(b) By building cities with the system of organs like those of animals.
(©) By allowing free access to parks and open spaces.
(d) By allowing Nature to retain its primitive, undomesticated character.

8. ACcording to the author, the function of a.city isto:
() provide adequate community expression. :
(b) make available centres of recreation and public gatherings.
(©) facilitate traffic and communication. g
(d) raise the tone of life and make it more meaningful.

.

* The opening sentence of the passage h?lplies thatb. found in a city.
(@) the possibilities of living a decent life cannot be

®) only a city can provide the means t0 lead a full };fea'd a successful life.
(© among other places, a city can also help manl_tq 3 than a village.
(@) a city provides better opportunities for o
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Passage 9

It is strange that, according to his POSit.ion in .life, o e})l:.travag;llnt _matl: is a.dmired or
despised. A successful businessman does no}hmg to increase his popularity by bemg _Careful
with his money. He is expected to display his success, to haw.a A Apart cay an €Xpensive life,
and to be lavish with his hospitality. If he is not so, he is conSIder‘:ed mean- and his Teputatiqy
in business may even suffer in consequence. The paradox remalns_ that 1f. he had not beep
careful with his money in the first place, he would never have achieved his present Wealth.
Among the lwo income group, a different set of values exists. 'I‘h.e young clerk who makes his
wife a present of a new dress when he hadn’t paid his house rent, is condemned as eXtravagan.
Carefulness with money to the point of meanness is applauded as a virtue. Nothing in his life
is considered more worthy than paying his bills. The ideal wife for such a man Separates her
housekeeping money into joyless little piles—so much for rent, for food, for the childreps
shoes; she is able to face the milkman with equanimity and never knows the guilt of buying
something she can’t really afford. As for myself, I fall into neither of these categories. If | haye

money to spare, I can be extravagant, but when, as is usually the case, I am hard up, then I am
the meanest man imaginable.

1. In the opinion of the writer, a successful businessman :
(a) is more popular if he appears to be doing nothing.
(b) should not bother about his popularity.

(c) must be extravagant before achieving success.
(d) is expected to have expensive tastes.

2. The phrase ‘lavish with his hospitality’ signifies :
(a) miserliness in dealing with his friends.
(b) considerateness in spending on guests and strangers.
(c) extravagance in entertaining guests.
(d) indifference in treating his friends and relatives,

3. We understand from the passage that :
(a) all mean people are wealthy.
(b) wealthy people are irivariably successful.
(c) carefulness generally leads to failure.
(d) thrift may lead to success.

4. Tt seems that low paid peoﬁlé_'should :
(@) not pay their bills promply.
() not keep their creditors waiting,
(c) borrow money to nieét their essentia] needs. |
(d) feel guilty if they overspend. iy

ok
[

S. The word ‘parodox’ means §0
(a) statement based on fdets,
(b) that which brings out'thé inner meaning, R
(c) that which is contrary'to received opinion. AT oD 1
(d) statement based op the popular opinion.

3
F !‘ JI_

Y
1 ) _1('4'



..-—h‘w--——_—-h-—&—q—--h_— -
-
-

6. How does the housewife, des
(a) is content to be so thrifty.
(b) wishes life were less burdensome,
(©) is still troubled by a sense of guilt,

(d) wishes she could sometimes be extravagant.

7. Which of the following is opposite in meaning to the word ‘applauded’ in the pas-
sage?

cribed by the writer, feel when she saves money?

(a) Huﬁi]iated (b) Decried
(c) Cherished (d) Suppressed

- The statement ‘she is able to face
(a) she is not upset as she has be
(b) she loses her nerve at the sig
(c) she manages to keep cool as
(d) she remains composed and

milkman tactfully.

the milkman with equanimity’ implies that :
en paying the milkman his dues regularly.

ht of the milkman who always demands his dues.
she has to pay the milkman only a month’s dues.
confident as she knows that she can handle the

. As far as money is concerned, we get the impression that the writer :
(a) is incapable of saving anything.
(b) is never inclined to be extravagant.
(c) would like to be considered extravagant.
(d) doesn’t often have any money to save.

10. Which of the following would be the most suitable title for the passage?
(a) Extravagance leads to poverty.
(b) Miserly habits of the poor.
(c) Extravagance in the life of the rich and the poor.
(d) Extravagance is always condemnable.

Passage 10

i tham ’s south
A pioneering scheme has been started recently in Sou Eti pton on England
: riving.
“ast to educate motorists who have been convicted of drunken g

G ne.
The penalty for drunken driving might be the loss of a dﬂ‘“‘;g 1:;:?!;:; (:laa\rl;i?:tind
But unger the new scheme, convicted drivers do not pay thfhﬁnfa' nrsobation service. Designed
“&ht training sessions—one a week organized by the local au Onté,el:ﬁsed by senior probation
0 demonstrate the damage alcohol can do, thes SEhemE was to him had a drink problem,
Uhicer John Cook. He said about a quarter of the people who Camef tting the message across
but had not realized how much they were drinki.rl & Onel w;};fang; r_hei measure it. Almost
:to make the drivers pour out their usual r;::);:i :1:;35[ an example of how easy it is to
0 . e buta i
e e e s e s, i i
Mthe Course are giving clinical evidence of the EHeCFS o all:}? hOlhor:he ilrink);r might like to
bel'er truth is that drinking badly affects driving skills, althoug
i

Ve otherwise.




---------"-“_"""""'-‘--"-_"‘""-'-—-
e g

1. The Southampton scheme requires convicted drivers :
(a) to pay a heavy fine. :
(b) to attend eight driving sessi(?ns-one a week.
(c) to undergo a probation service.
(d) to surrender their driving licence.

2. John Cook devised the scheme :
(a) as a demonstration technique for driving.
(b) to demonstrate the harmful effects of alcohol.
(c) to show that Southampton was concerned about drivers.
(d) to prove that alcohol does influence driving.

3. The problem with a quarter of the people who went to John Cook was that they .
(a) did not want to stop drinking. '

(b) were unaware of the fact that they could get drunk.
(c) would not admit that they had a drinking problem.
(d) did not know how much they were drinking.

4. Most drivers start off with at least :
(a) a double measure.
(b) a single measure.

(©) alittle less than a single measure.
(d) two doubles.

5. The truth is that alcohol :

(@) does not affect the body but only the brain.
(b) affects only the brain,

(c) affects the body and the brain.
(d) has no effect on the body or the brain.

Passage 11



_____——-._--.-.-..._..
- -
-

-

-
-
-
-~
i
-
-
-
-----
________

lution of 1,
the sacred reso f the people ¢, i
more if he were today in the flesh pre alize . He could .
.=ﬁﬂd;n§efau!;;’-i tt};erzi?::rzsslcm of his or that. Dclla;] W. Critics like me 0P0851b1y have done
are determi Pennanentl' i : message rul N
fves.” Ving Memorjg) by <5 Im]hc_ms

1. Lokmanya Tilals messages were ost effect
(@) when he delivereq o through hig g
(b) after his death, =g
(©) before hijs imprisonment.

(d) when he delivered Speeches,
(e) None of these

(d) Critics still find fault with his views,
(e) He was put in jail at Mandalay;

3. Which of the following is the general tendency of critics according to the passage?
(@) To find fault with one or the other expression of a writer.
(®) To praise only those writers whom they like.
() To condemn one and all the reformer writers.
(d) To suggest new ideas to the public.
(©) To justify their criticism,

- In the context of the passage, a reformer becm:nes effective if :
(2) he is a journalist with an objective . e
() he is an author with an excellent style of writing.
(©) he is an effective political leadel_‘ ok Fhe n?t?;se:hd life style.
(d) he is a person with consistency in his writing
(e) heis good critic of social practices.

S. In th f the passage, which of the fbhOWing statements about Lokmanya
: € context of the ) -

Tilak and the reformers is true? o
(a) They were moral in private life butﬁlgfli_;;llz 1,3
®) Their influence on people was neg spapers edited by them.’
(© Very, few people used to read the ::;::;appers even from inside the jail
: ir n . B ]
ES)) TT'II]IE_S' ‘fvn?]re aﬂowe:stﬁlsijé;[ﬁz a thousand-fold by their imprisonment
€Ir influence wi

blic life.

i i st B rrioral in their personal life and law
Vhich of (e following types 0 o P
" Publia gy le
(a) ThdSe’who want to reform people-

: le- f ¢ : . 3
Eb] Tho$d uho want'to entena]nblzoé} followers who wish to emulate them
©) Thojé‘fé"mio"have a large numbt o .

@ Thos# it Jead an authentic life- of their exemplary lives.
(&) ThoRie o0

le | ) sion
0Se Whose writing is an exten

_________
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Passage 12

A person who takes the trouble to form his own (innions.and be1i<.:fs, will feel thyy Ki
owes no responsibility to the majority for his conclusions. If he is a genuine lover of truth, i
he is inspired by a passion for seeing things as they are and an abhorrence of holdmg ideag
which do not conform to facts, he will be wholly independent of the assent of those aroung
him. When he proceeds to apply his beliefs in the practical conduct of life, the Position jg
different. There are then good reasons why his attitude should be less inflexible. The society
in which he is placed is an ancient and composite growth. The people from whom he dissents
have not come by their opinions, customs and by a process of mere haphazard. These Opinions
and customs all had their origin in a certain real supposed fitness. They have certain depth of
root in the lives of a proportion of the existing generation. Their congruity with one another
may have come to an end. That is only one side of the truth. The most zealous Propagandism
cannot penetrate to them. In common language, we speak of a generation as something
possessed of a kind of exact unity, with all its parts and members homogenous. Yet, plainly it
is not this. It is a whole but a whole in a state of constant flux its factors and elements are
eternally shifting. It is not one but many generations. Each of the seven ages of man is neighbour
to all the rest. The column of the veterans is already sinking into the last abyss, while the
column of the newest recruits is forming to each its tradition, its tendency and its possibilities,

material cares and the solitude of the affections. It is obviously unreasonable to lose patience
and quarrel with one’s time because it is tardy in throwing off its institutions and beliefs and

1. What is the hard task the author js referring to in the paragraph?
() To earn a living, (b) To live normal life,

(¢) To change the society. (d) To change according to times.
(e) To find shelter.

2. According to the
(a) Beliefs
(c) Social utility
(e) Ignorance

passage, customs and traditiong originate from?
(b) Conflicts of life
(d) Contemporary leadership

3. According to the author, the a
social life should be :
(@) rigid.
(c) generous.
(e) revoluu'onary

ttitude of self-opinionated person in the Pfa':ﬁcal

(b) flexible.
(d) optimistic.
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According tO the author, a generation is a whole but it is always :
(a) homogeneous. (b) unified in values.

¢) growing. (d) constant.

Ee) heterogeneous.

5, What does the author mean by describing ‘apply his beliefs in the practical conduct
" of life’ in line six of the passage?
(a) To practise what he believes.  (b) To preach what he believes.

(¢) To indoctrinate what he believes. (d) To adhere to what he believes.
(¢) To denounce what he believes.

6. According to the author, why overnight change in social setting is not desirable?
(a) It will invigorate our life.
(b) It is difficult to bring about.
(c) It will lead to social disintegration.
(d) It will retard progress of the society.
(e) None of these.

7. The author’s attitude towards the problem he discusses is :
(a) opportunistic. (b) realistic.
(c) pessimistic. (d) intransient.
(e) doctrinaire.

Passage 13

Most of us use the products of science-railways, aeroplanes, electricity, wireless and

' e in an advanced age and are ourselves so very ‘advanced’. Now, there is no doubt that our

| 8 a very different one from previous ages and I think it is perfectly correct to say that it is

#  More advanced. But that is a different thing from saying that we as individuals or groups

| more advanced. It would be the height of absurdity to say that because an engine-driver

|} "1Un an engine and Plato or Socrates could not, the engine-driver is more advanced than,

. SSuperior to Plato or Socrates. But it would be perfectly correct to say that the engine itself
" More advanced method of locomotion than Plato’s chariot was.

1. Which one of the following statements is true?
(@) An engine-driver is cleverer than Plato or Socrates.
(b) Plato or Socrates is in no way inferior to the engine-driver.
(©) Plato and Socrates surpassed the engine-driver in every respect.
(d) The engine-driver cannot be compared to Plato or Aristotle.

2 In this passage the author mentions Plato and/or Socrates to emphasise that ;

(@) they are/were men of great scholarship.
) People as individuals in the modern age are not more advanced than their

Predecessors.
. ; N
© the engine is a better mode of locomotion than Plato’s chariot.

9 Plato and Aristotle had greater respect for learning.
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3. According to the author, the present age is far more advanced than :
(a) all the previous ages in some respect.
(b) the age of Socrates and Aristotle in some respects.
(c) some of the previous ages in all respects.
(d) all the previous ages in all respects.

4. Many of us make use of machines :
(a) with very little knowledge of their mechanism.
(b) without any knowledge of their historical significance.
(c) with full knowing of their genesis.
(d) without knowing how they were invented.

5. People today are very proud because they live :
(a) in a philosophically advanced age.
(b) in a materially advanced age.
(c) in a scientifically advanced age.
(d) in a spiritually advanced age.

Passage 14

I tried a smile-there was no response. I offered the customary gifts—he waved them
aside. I tried the few words I knew-and with a gesture of dignity and scorn he handed me a
present, a solitary egg; white and chill it nestled in my palm. I smiled again but even I felt that
my smiles had become mechanical. There was obviously nothing for it ;: I would have to put
on my little act, which in my opinion is worth a whole Platoon of Assam Rifles as a safety
measure. I removed my dentures. There was a roar of interest and excitement from the crowd.
I put them back. Another roar. After I had conducted this humiliating performance several
times, there was at least a reaction. The chief’s lips began to twitch, and finally he broke into

a hearty laugh. Pointing to his greying hair, he declared, ‘I am an old man too’, and soon he
was sitting beside me very affably.

1. At first the author was treated by the chief as :
(a) a person of lower status.
(b) a person of higher status.
(c) an old friend of the community.
(d) a possible enemy;

2. The removing of dentures by the author was intended to show that :

(@) he was not frightened.

(b) he was old and weak in some ways. .
(c) he knew a lot of tricks to amuse people. N
(d) he did not wish to be treated as a friend. -

3. The crowd was made up of :
(@) the soldiers from Assam Rifles, pis
(b) the tribal people. _ S

(c) the men who had acécimpanied the author, W1 8h
(d) the chief’s bodyguards, 4
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The passage Suggests that :
(@) it is impossible to make friends with the tribals.

() itis quite easy to be accepted by the tribals.

() witha little effort it is possible to make friends with the hearts of the tribals.

(d) only a gift can win over the hearts of the tribals.

4.

The chief laughed heartily when :

(a) the author offered the usual gifts.

(b) the crowd roared with interest and excitement.
(¢) the author removed his dentures again and again.
(d) the author received the present and smiled.

5.

Passage 15

In the past man’s worst enemy was Nature. He lived under the continual threat of
emine and pestilence, a wet summer could bring death to whole-nation’ and every winter
s a menace. Mountains stood like a barrier between people and people, a sea was less a
highway than an impassable division. Today Nature, though still an enemy, is an enemy almost
wmpletely conquered. Modern agriculture assures us of an ample food supply. Modern
mnsportation has made the resources of the entire planet accessible to all its inhabitants.
jodern medicine and sanitation allow dense populations to cover the ground without risk of
estilence. True, we are still at the mercy of the more violent natural convulsions. Against
arthquake, flood and hurricane man has, as yet, devised no adequate protection. At most
mes, Nature is no longer formidable, she has been subdued.

1. Modern medicine has helped man :
(a) to live longer everywhere in the world.
(b) to live a healthy life in hygienic conditions.
(©) to live in thickly populated areas without fear of epidemics.
(d) balance population with available resources.

2. Man has not yet succeeded in controlling the furies of :

(a) earthquakes. (b) floods.
(¢) hurricanes. (d) All the three above.

3. Which one of the following statements best reflects the underlying conviction of

the passage?
(a) Man can do wonders.

(b) Man’s knowledge has no end.
(¢) Man has been able to control Nature to a great extent.

(d) Man has been able to control Nature completely.

4. In ancient times, Man had an apprehension of : _
(a) epidemics. (b) severe droughts.
(c) floods. (d) All the three above.

* The modern transport system is a blessing asit:
(8) has helped decrease the distance betweern towns and villages.
() has brought comfort to both towns and villages.
() has made all the commodities available to everyone.
(d) has encouraged people to travel for pleasure.




Passage 16

The capitalist system of society does not foster healthy relations among human beings.
A few people own all the means of production and others—thoug.h nomln'all}{ few h.ave to sel]
their labour under conditions imposed upon them. The emphamjs of capltahsr-n' ]?em.g on the
supreme importance of material wealth the intensity of its appeal is to the acquisitive intensity,
It promotes worship of economic power with little re.gard to the means employec! for it
acquisition and the end that it serves. By its exploitation of human. beings to the limitg of
endurance its concentration is on the largest profit rather than maximum production, Thus
the division of human family is done on the basis of economic circumstance. All this is injurioys
to division of human dignity. And when the harrowed poor turn to the founders of religion for
succour, they rather offer a subtle defence of the established order. They promise future
happiness for their present suffering and conjure up visions of paradise to redress the balance

to soothe the suffering and the revolt of the tortured men. The system imposes injustice, the
religion justifies it.

1. The passage indicates that the capitalist system is :
(a) fair. (b) ambitious.
(c) prosperous. (d) dehumanising.

2. The established order is supported by religion to :
(a) alleviate the suffering of the poor in the capitalist system.
(b) perpetuate the injustice imposed by the capitalist system.

(c) balance the suffering of the poor with hopes of future rewards.
(d) help the tortured men to seek redress.

3. In a capitalist system :
(a) the means justify the ends.
(b) the ends justify the means.
(c) the means endorsed by religion are strictly followed.
(d) means which lead to exploitation are strictly prohibited.

4. Capitalism is injurious to human relations because it divide

$ society into two groups,
ie, :
(a) working and non-working. (b) exploiters and exploited.
(c) religious and irreligious. (d) buyers and sellers.

5. In a capitalistic system of society each man wishes -
(a) to acquire maximum wealth. (b) to produce maximum wealth.
(c) to have visions of paradise, (d) to soothe the sufferings of other.

‘Passage 17

If I had been asked in my early youth whe
men or only with books, my answer would ce
years this has become less and less. Not that I

ther I preferred to have dealings only with
rtainly have been in favour of books. In latef

‘ have had so much better expériences with mEﬁ
than with books, on the contrary delightful books even now come my way more often th

purely delightful men. But the many bad experiences with men have noutished the meado¥
of my life as the noblest book could not do.
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1. The }ilmh'or says that in later years his love of books diminished because :
(a) he did not get many delightful books to read.
-(b) he had better €xperiences with men than with books,
() he had given up

the habit of reading b ks.
(d) even the bad e e

Xperiences he had with men were more valuabl
noblest books could give re valuable than what the

2. E\:’Slldl ine of the following statements best reflects the main arguments of the
sage?

(@) Books are always better than men.

(b) There are more purely delightful men than purely delightful books.

(¢) It is the experience with other human beings that nourishes one’s life and not
necessarily books.

(d) Neither men nor books give any worth while experience.

. Which one of the pairs of phrases best help
of the meadow of my life?

(a) Pure and healthy life.

(b) Vast and rich life.

(c) Well nourished but dull life.
(d) Poor but simple life.

s to bring out the metaphorical meaning

4. In his early youth, the author :
(a) liked to have more dealings with books than with men.
(b) preferred to have dealings only with books.
(c) liked to have more dealings with men than with books.
(d) liked to have dealings more with men than with books.

Passage 18

In everyday speech we talk of having a good memory, of having a poor memory, of
aving a better memory for faces than for names, of having a memory thfat is failing and so
. Such talk suggests that memory is an object, a thing which ‘WE possess in -the same way as
"8 possess a head or a big toe. Yet it is true to say there is no su.ch things as memory.
ig toe can be seen and touched, but not so memory. Should an aquaintance boast of hzwtig
“ excellent memory, we cannot confirm his claim in the same way as if he boaste u1:1
Pssession of a well stocked library. We cannot ask him to show his memory. What we cc)?the
" however, is to see how much of his past experience he can recollect and how many 2>
ks that he has read he can remember. Memory is a physical and' mental r}?'te;mo: o
“t for future use, The mind and the body tend to forget experiences which ar
Welcome or yseless.

1. The author says that :
(a) mémory is not tangible.
(b) memory is like a big toe.
(©) big.toes are more tangible than memory.
(d) memory is an object.
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2. The author implies :
(a) that memory has something to do with the brain.

(b) that memory has got nothing to do with the brain.
(¢) that memory is like a well stocked library.
(d) that memory is experience.

3. Memory deals with :

(a) the past. (b) the present.
(c) the future. (d) both the past and the present.
Passage 19

The stock-taking done at the first national convection on Consumer Protection served
to highlight the areas that called for special attention to sustain the momentum of the movement
as genuine forum for safeguarding the people’s interests. Spreading awareness about the
rights of the consumers and the relief open to them in case they did not get their money’s
worth of goods and services has rightly been identified as the first priority. While this may not
be a difficult task in urban areas, where the movement is oncentrated at present, taking it to
the vast rural hinterland calls for a multi-media approach in which radio and television have
a crucial role to play. The involvement of the 500-odd consumer organizations in the country
in publicising the concept of fair trade practices and the remedies available against their
violation will prove rewarding, if the message is conveyed through village bodies.

Government efforts remain confined
formal launch of the movement with the enac
mounting backlog of cases in consumer COUIts,

level redressal machinery.
The main objective of the movement is the creation of a culture that denies place in the

market for products that are not consumer friendly. This is possible only if consumer bodies
take over the watch-dog role performed by the Government till now and exercise social control
over the market to see that the benefits of liberalization are not reaped by traders alone. But
the plea to industry to exercise self-regulation and maintain minimum standards of quality
and devise appropriate pricing is bound to go unheeded unless strict measures are taken 0

ensure compliance.

tment of the Consumer Protection Act. The
points to the need for toning up the district

1. The first national convention on Consumer Protection has :
(a) highlighed the areas for special attention.
(b) spread awareness about consumer rights.
(c) specified in relief open to the consumer.
(d) given it a momentum.

9. Consumer Protection Act proposes to give the Consumer Protection against :

(a) highly priced substandard goods.

(b) cheating by selling substandard goods.

(c) not getting his money’s worth.

(d) denial of relief if the product is not upto the mark.
3. Government contributed to the Consumer Protection Movement by :
(a) toning up a district level redressal machinery. b
(b) clearing the backlog cases in the consumer court. ,
(c) setting up infrastructure. f'l e
(d) enactment of the Consumer Protection Act.

———————
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4. Spreading Consumer Protection Movemen; to the rura] areyg nNeeds :
(a) official patronage. '

(b) a multi-media approach,
(c) consumer organization to canvass this,
(d) message to be conveyed by village bodjes,

5. Role of consumer bodies is :
(a) to maintain minimum standards of
(b) to function as a watch-dog.

(c) to make a plea to industry to exercise self-control,
(d) to exercise social control over the market.

quality.

Passage 20

Though the U.S. prides itself on bein

g a leader in the world community,
shows that it lags far behind other industrialized countries in meeting the needs of its youngest
and most vulnerable citizens. The U.S. has a higher infant mortality-rate, a higher proportion
oflow birth-weight babies, a smaller Proportion of babies immunized acai

and a much higher rate of adolescent pre

d recent report

that could harm their ability to dev
mmunizations are too low, more chil
tre while their parents work and more
tese and other risk factors can lead to
and more costly to reverse.

elop intellectually, physically and socially. Child
dren are born into poverty, more are in substandard
are being raised by single parents. When taken together,
educational and health problems that are much harder

The crisis begins in the womb with unplanned parenthood. Women with unplanned

Pregnancies are Jess likely to seek pre-natal care. In the U.S. 80% of tenage pregnancies and
56% of all Pregnancies are unplanned. The problems continue after birth where unplanned
Pregnancies and unstable partnerships often go hand in hand. Since 1950, the number of
‘gle parent families has nearly tripled. More than 25 per cent of all births today are to
Married mothers, As the number of single parent families grow and more women enter the
"ork force, infants and toddlers are increasingly in the care of people other than their parents.

Most disturbingly,
" abusing their childre
@ increased by.ove

recent statistics show that American parents are increasingly neglecting
n. In only four years from 1987-1991, the number of children in fos.ter

r 50 per cent. Babies under the age of one are the fastest growing
“egory of children entering foster care. The crisis affects children under the age of three

o tseverely, the report says. Yet, it is this period-from infancy through pre-school years-that
€ stage for a child’s future.

o Directions (Q. 1-9) : Choose the word which is most opposite in meaning to the given
"4 as used in the passage.

L. The main focus of the passage is on the plight of :
(2) orphaned children. (b) teenage mothers.

(©) low birthweight babies. (d) unwed mothers.
(e) None of these.
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2. Children falling in which age-group are most severely affected by the ‘quiet crisis’?

(a) Below one year.
(b) Below three years.

(c) Between two & three years.
(d) Between one & three years.
(e) None of these.

3. Which of the following does not constitute the ‘quiet crisis’ in the U.S. as per the

task force report?
(a) Lower proportion of new born babies with normal weight.

(b) Higher incidence of adolecent girls becoming mothers.

(c) Lower rate of babies surviving childhood diseases.
are deprived of immunization.

(d) Larger proportion of babies who
les getting divorced.

(e) Increasing cases of teenage coup
n the context of the passage?

4. Which of the following statements is not true i
is approximately three times more

(a) The number of single parent families today
than four decades ago.

(b) The number of children in th
1991.

(c) In the U.S,, the numbe

(d) Only 20 per cent of all th

(e) About 6 million infants in
problems.

5. The number of children born to married mothers in the U.S. is ap
ren born to unwed mothers?

e U.S. entering foster care has decreased after

r of infants living in poverty is about 3 million.
e pregnancies in the U.S. are planned.

the U.S. are likely to develop educational and health

proximately how

many times the number of child
(a) 1.5 times (b) 2 times
(c) 3 times (d) 3.5 times

(e) Not mentioned in the passage.

6. Children born out of unplanned pregnancies are highly vulnerable because :

(a) they are raised by single parents.
(b) their parents are mostly poor.

(c) they are mostly malnourished.

(d) they are less likely to receive prenatal care.

(e) their parents are emotionally immature.
7. Decide which of the following factors is/are responsible for the physical, intellec

tual and social under-development of infants in the U.S.?

A. llliteracy of parents
B. Lack of parental care

C. Poverty ;
(a) Only A (b) Only B _ IJ
(c) Only C (d) Both A & C ‘
(e) BothB&C



increasing number of infar%ts in the U.S. are in foster care on account of :
" (@ an increasing number of single parent families with the female member work-

ing- _ |
(v) an increasing number of women maintaining the status of unwed motherhood |

and becoming economically independent.

() an increasing number of employed couples who are required to stay apart. _=
(d) an increasing number of women getting divorced and abandoning their babies. I}
(e) an increasing number of parents who lack awareness about baby-care. f

 The task force report seems to be based on the data pertaining to the period :
(a) 1987-91. (b) 1950 onwards till date.
() 1987 onwards till date. (d) 1950-91.
(e) 1991 onwards till date. ;

pirections (Q. 10-12) : Choose the word which is most nearly the same in meaning as
given word as used in the passage.

10. CONFRONT

(a) Face (b) Tolerate
(¢) Succumb (d) Eliminate
(e) Oppose
11. VULNERABLE
(a) Insecure (b) Indispensable
(c) Risky (d) Promising

(e) Delicate

12. ABUSING
(a) Cursing (b) beating
(c) 1l treating (d) Accusing

(e) Oppressing

Directions (Q. 13-15) : Choose the word which is most opposite in meaning to the
éven word as used in the passage.

13. SEVERELY
() Drastically (b) Intensely
() Minutely (d) Normally
() Slightly

14. UNSTABLE
(a) Changing (b) Steady
(c) Stagnant (d) Confined

(€) Constant

15 SUR

" SUBSTANDARD
() Impoverished (b) Compas-smnate
(©) Excellent (d) Beneficial

(e) Valuable




ANSWERS

PART-C]

1. Sequence of Sentences

Work Book Exercise (A) : Jumbled Parts 0

1.¢) 2(d 3.() 4() 5 6@ 7 (b)
11. (a) 12.(a) 13.(a) 14.(d) 15.(b) 16.(a) 17. (b) 18. (
21. (d) 22.(b) 23.(c)

Work Book Exercise (B)
1.(c) 2( 30 4@ 5@ 6@ 7@

8. (c)
d)

8. (d)

11. (¢) 12.(a) 13.(b) 14.(b) 15.(d) 16.(c] 17. (b) 18.(a) 19.(

21. (c) 22.(b) 23.(c) 24.(b) 25.(b) 26.(d)

Work Book Exercise (C) : Ordering of sentences

1.d 2( 3() 4@ 5@ 6@ 7@ 8(b
11. (¢) 12.(b) 13.(c) 14.(a) 15.(b) 16.(a) 17.(d) 18. (b)
21. (b) 22.(a) 23.(c) 24.(d) 25.(0)

Work Book Exercise (D)
1.(e) 2.(c) 3.(b) 4.(d 5.(d 6.(c) 7.(a) 8. (d)

Work Book Exercise (E)

L 1.(a) 2. (d) 3. (b) 4. (c)
I 1. (e 2. (d) 3. (a) 4. (c)
. 1.(c) 2. () 3. (d) 4. (a)
2. Objective Comprehension
Passage 1

f a Sentence

9. (b) 10.(d)
19. (c) 20. (b)

9. (c) 10. (c)
19. (c¢) 20. (d)

9.(c) 10.(a)

Ll 2(d 3() 4.() 5 @b) . (&) 7.(b) 8.(d) 9 (c) 10.@

Passage 2

L 20b) 3@ 4. s () 6.(e) 7.(a) 8.(b)

9. (a) 10. (d)
[«



2. (a)

2. (c)

2. (b)

2. (a)

2. (d)

2. (b)

2. (c)

2. (d)

2. (c)

2. (c)

2. (b)

2. [b]l

3. (a)

3. (a)

3. (d)

3. (b)

3. (d)

3. (d)

3. (a)

3. (b)

3. (a)

3. (b)

4. (b)

4. (e)

4. (c)

4. (c)

4. (d)

4. (a)

4. (d)

4. (a)

4. (d)

4. (c)

4. (d)

4. (d)

Passage 3
5. (d)

Passage 4

5.(e) 6. (b)

Passage 5

5.(a) 6. (b)

Passage 6

5.(a) 6. (b)

Passage 7

5.(c) 6.(d)

Passage 8

5. (c) 6. (b)

Passage 9

5.(c) 6.0

Passage 10

5. (c)

Passage 11

passage 12

5.(a) 6©

passage 13

5. (C)

passage 14

5. ()

-'____,_..-.--—.-——
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7.(b) 8. (a)
7.

(c) 8.(b) 9.(d) 10.(a)
7.(d) 8.(d) 9.(c) 10.(c)
7. () 8 () 9(d 10 ()
7.b) 8.(d) 90
7.(b) 8@ 9% (d) 10. (c)
7. (b)
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1. (c)

1. (a)

1. (a)

1. (c)
11. (e)

2. (d)

2. (d)

2. (b)
12. (c)

3. (c)

3. (b)

3. (a)

3. (c)

3. (e)
13. (e)

4. (d)

4. (b)

4. (b)

4. (b)
14. (b)

Passage 15

5. (c)

Passage 16

5. (a)

Passage 17

Passage 18

Passage 19
5. (b)

Passage 20

5.(c) 6.(d)
15. (d)

7. (e)

8. (a)

9.(d) 10.(a)
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